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Instructions :
e All questions are compulsory to attempt
e Q. No.1to5 are Objective type questions
e Each question carry 1 mark.
e Internal choices are given for Q. No. 6 to 20.
e Q. No. 6to 13 total 8 questions.
e Each question carry 2 marks (word limit 30 words)
e Q. No. 14 to 17 total 4 questions.
e Each question carry 3 marks (word limit 75 words)
e Q. No. 18, Only 1 question.
e Question carry 4 marks (word limit 120 words)

e Q. No. 19 to 20 total 2 questions.
e Each question carry 5 marks (word limit 150 words)
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(1)
(i)

(i)

(iif)

(iv)

wel fddey gaar forfay - 1x6=6
Choose and write correct option —
9 TS A B T Mg|Mg?| | Cu®*|Cu [1]
(a) Mg DTS B |
(b) CuTHTS 2|
(c) Mg + Cu* —— Mg** + Cu il &1 3rfafsham 2 |
(d) Cu STRNFRS MAFHHD 2 |
For the given cell, Mg|Mg**| | Cu**|Cu
(a) Mg is cathode
(b) Cuis anode
(c) The cell reaction is Mg + Cu** —— Mg** + Cu
(d) Cu is the oxidising agent

TTgH &1 STURAfT 3 BIS Sig—rfe Affhar Fw= @ 18 AR AT &1 9T 107° min~
Lo AT e 98T WA URaiigH @ SURIfT H =T @1 WY dr Sififhar @1 E, (|fhaor
3oll) BT T BRI ? [1]

(a) @&T &l

(b) 10° min* ¥ 3ffdd B SITeEfy

(c) 107 min™'¥ TR B SIUEf

(d) 3ffrs wafe =181 2, E, (Afhaor Soff) @ grgfad =21 & 51 et 2

A biochemical reaction was carried out in the absence of enzyme and the rate of reaction was
found to be 107° min™". If the same reaction is now carried out in the presence of enzyme, then
the E, for the reaction will be

(a) same

(b) greater than 10° min™"

(c) lower than 10° min™
(

d) Data insufficient, E, cannot be predicted [1]
o & & P9 WER UIdH ® 2 [1]
(a) TegfAe (b) fdT (c) $=gelT () 7oA
Which of the following is fibrous protein ?

(a) Albumin (b) Keratin (c) Insulin (d) Globin

Vel &7 ATSEIHROT Uaal 3Tl ATEIH § BRe IR m-ATSeieiel ¥l §91ar & difd [1]
(a) UfcrRITId @1 SURART & FTas[E RS AHE FA dad m-RIfT W &1 7ar 7 |

(b) SeTaE TR UfoRermas sfafsrar § TiHT ag m-fdearT 2

(c) ufoReru® @1 IguRerfa # A18gl @8 e m-Refd w S7ar 2

(d) 3 (Yael) s # Ufels el o @ wu # Bl © |

Nitration of aniline in strong acidic medium also gives m-nitroaniline because

(a) In spite of substituents nitro group always goes to only m-position.

(b) In electrophilic substitution reactions amino group is meta directive.

(c) In absence of substituents nitro group always goes to m-position

(d) In acidic (strong) medium aniline is present as anilinium ion.
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(v  ¥@al CoCls.6NHs, CoCly.5NH;, CoCls.4NH; I TIdd H AgNO; & I fihal dxam W

RATHIRROTAT AgCl 991 BT 8l hH HH: © ¢ [1]
(a) 3 AgCl, 1 AgCl, 2 AgCl (b) 3 AgCl, 2 AgCl, 1 AgCl
(c) 2 AgCl, 3 AgCl, 1 AgCl (d) 1 AgCl, 3 AgCl, 2 AgCl

The correct order of the stoichiometries of AgCl formed when AgNO, in excess is treated with
the complexes : CoCl,.6NH,, CoCl;.5NH;, CoCl,.4NH, respectively is :-

(a) 3 AgCl, 1 AgCl, 2 AgCl (b) 3 AgCl, 2 AgCl, 1 AgCl
(c) 2 AgCl, 3 AgCl, 1 AgCl (d) 1 AgCl, 3 AgCl, 2 AgCl
(vi)  CuSO, ®T UMM dIdel H Tafd el fhar ST &, wiifds [1]
(a) Cu 3ffaRfIa Brar ® (b) Cu** IrT=afa & I §
(c) Al IroafiId 8 e @ (d) cuso, faanfsre &1 wmar &
CuSO, is not stored in Aluminium bottle, because [1]
(a) Cu gets oxidised (b) Cu** gets reduced
(c) Al gets reduced (d) CuSO, gets decomposed
(2) Rad = 31 gid BT - 1x5=5
(i) SIS RGN K S| Bl B
(i) WIS TEDIBTA DT ST ..o el B B |
(i) R-NH,+ CHCls+ 3KOH oo +3KCl + 2H,0
(iv) UOSBIZS @R BICIT oo IfT® 2|
(v) gaﬁtﬁrﬁ &l B SURARY # SifRNpd grax Fedell I a9 Smar 2 RN o PEd
|
Fill in the blanks -
(i) Molality of water is
(ii) Phenol is acidic than Alcohol.
(iii) R-NH; + CHCIl3 + 3KOH ... +3KCl + 2H,0
(iv) Aldehyde & Ketone are ------------- compounds.
(v) Chloroform (i) Oxidized in presence of light to a poisonous gas called....................
(3) /3 faRey 1x5=5

(i) Ih Aol MAMAG Aol BT IIERT 2|

(ii) AR & B g URA] el (Fe) B

(i)  Mn* IFgEHIT IR AN 2 |

(iv) UTIfA® Yeblgd TRIH TR Tfesers g9 © |

(v) Ugell giaeied RS # Cr &1 e favg wad Sarer 8iam 2 |
Write True/ False —

(i) Dry cell is an example of primary cell.

(ii) Central Metal Atom of Hemoglobin is Iron (Fe).

(iii) Mn*? shows paramagnetic behavior.

(iv) Primary alcohol gives aldehyde on partial oxidation.
(v) Cr has highest melting point in first transition series.
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(4) N \_Tﬁ_\é:)f ERICaY %’I’@I’Q : 1x5=5
(i) faerf= By, (@) CeHs—N=N-Cl
(ii) RIS (b) Izga AfIE T
(iii) PIGIE (c) 3FTHT TS|
(iv)  offdar (d) faetf# By,

(v) (CoHs), (e) & 3
(f) goy <iffre &
(g) Prdfee
Match & write -
(i) Vitamin By, (@) CeHs—N=N-Cl
(i) Testosterone (b) Electro Chemical Phenomenon
(iii) Protein (c) Amino acids
(iv) Anaemia (d) Vitamin By,
(v) (CyHs), (e) Secondary Amine
(f) Male Sex Harmone
(g) Cobalt
(5) UP g/ q1 H Sk falRag 1x5=5

(i)

(ii)
(iii)
(iv)
(v)

gddl deId IMuHey & fadre ReRrie @1 7oAl &1 93 foIRkay |
[Co[NH;]sSO,4]Br Td [Co(NH;)sBr] SO, % 9Ril ST aTell FHagadr & A fofRay |
[Co(CO),] & Co @I SifRIITBR® Fwr fofRay |

T g1 U AT e1g €, fbe ergetl & &+ 2|

A eI Mn* # SRgfiaa gelagi=l @ | 2 -

Write answer in one word —

(i)

(ii)
(iii)
(iv)
(v)

Write the formula of calculating dissociation constant for weak electrolyte.
Write the name of isomerism shown by [Co[NH;]sSO4]Br and [Co(NH;)sBr] SO,
Write the oxidation number of Co in [Co(CO),]

Gun Metal is an alloy of which metals.

The number of unpaired electrons in gaseous ion Mn*" is/are :-

aA+bB —=—> mM +nN [2]
It IfAfehar & oy 298K a0 R A=ic IHieRor forfay |

Write the Nernst equation at 298K temprature for cell reaction

aA+bB —=— mM +nN
/ OR
Al TR ST o0 B fohar | B drell dggd A FHIebRor foriay |

Write the Electro Chemical equation for the reaction that occurs in rusting of Iron.

=1 arfaforaren & fog eifafiar aife sma @ — [2]
(i) 3NO (g) = N,O (g) Rate = K (NO)?

(i) C,HsCl (g) — C,H.4 (g) + HCI Rate = K (C,HsCl)’

Determine the order of reaction for the following reaction —

(i) 3NO (g) - N,O (g) a7 =K (NO)®

(i) C,HsCl (g) — C,H, (g) + HCl T = K (C,HsCl)?
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10.

11.

/ OR
freferRaa o Reries & aifdifthar @ife & ggar AR —
(i) K=2.3X10 LMol Sec*
(i) K=3X 10 * Sec™
Identify the order of reaction with the help of rate constant.
() K=2.3X10"LMol*Sec™
(i) K=3X 10 * Sec™

< M B Fr R B —

(a) STTEHAST & (b) formros
Define for complex compounds
(a) Co-ordination sphere (b) Ligand
/ OR
STl Afrar - & ford uRifia #fvte —
(a) SUFSHATST G (b) SiTaRATRRT F=T
Define for co-ordinate compounds —
(a) Co-ordination Number (b) Oxidation Number
RNA Td DNA # &1$ o9 ofaR forlRag |
Write any three difference between RNA and DNA.
/ OR

MATHR WS Td WER e # dF 3faR fafay |
Write any three difference between Globular Protein and Fibrous Protein.

srareefiel fdery gad faeras & for) Rreee &1 forgw fafay |

State Raults Law for solution containing non-volatile solute.
/ OR

aeel faerdd ud emreel e &1 d—d faemang forkay |

Write 3-3 features of Ideal Solution and Non-ideal Solution.

fa=forRaa srfafshar & 9 § AT B & IR=AT SIOTT -
(@  CH,COOH Lk ,A NOB ,p

A

Fe/HCI NaNO,+HCl
(b)  C4H;NO, >A—NDN0 A,

Give the structures of A and B in the following sequence of reactions :

(@  CH,COOH —":-s>A N 5B

A
(b) C,H.NO, Fe/HCL o A Nagi?gofa B

/ OR
FrfaRad A & ™ & 7= Y by favs HT
(a)  uffes dem seAHe (b)  uffer dem N-sRreefferd
How will you distinguish between the following pairs of compounds :
(a) Aniline and Ethanmine (b) Aniline and N-methylaniline

[2]

[2]

[2]

[2]

[2]
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12,

13.

14.

15.

16.

17.

frfeRad &1 oo aRafda &we?

(a) TIFS | WA (b) STsH A I=ilgd 3T

How do you convert the following ?

(a) Ethanal to Propanone (b) Toluene to Benzoic acid
/ OR

frfaRead &1 we fefo

(a) Wriafewd wEifaferd RS Wed—pae Afifhar 78l <d 2 |

(b) 4TSI~ H URIS &7 pK, A Iwoilsd TRTS & o=l § &+ 8Iar 2|
Account for the following :

(a) Aromatic carboxylic acids do not undergo Friedel-Crafts reaction.

(b) pK, value of 4-nitrobenzoic acid is lower than that of benzoic acid

[CoCl,(en),]'® SR FHT@al & HXEAN I918¢ |
Draw the geometrical isomers of [CoCl,(en),]".

/ OR
[PtCIBrNH;CN] & ST AHEadal &l AR 94130 |
Draw the geometrical isomers of [PtCIBrNH3;CN]'.

fAfrar &1 dife Td SMvuifdddr #° ®Ig O idR forRa |
Write any three differences between order of reaction and molecularity.
/ OR
AR @7 &% UF &% ReRrid 7 &ig A iR faRay |

Write any three differences between Rate of Reaction and Rate Constant.

AT T IRac SfTRABROT 3raver g & | iy ?
9 dcd &7 AW foRay S 3d 9oft 7 Saan SiTRATARoT STaRer eI © |
Write name the element which shows maximum oxidation state in 3d series.
Transition element shows variable oxidation state, Why ?
/ OR
BT Tl & FEDd 0T BT e 9 far S 7 ?
quisd f& Cr-24 (Hifem) o Ugfd sggwad § a1 ufagman |
How magnetic property of transition element is determined?
Show that Cr -24 (Chromium) is paramagnetic or diamagnetic in nature.

T 9 DY T HRAT —

(a) UBR® 3rat (b) I+ (c) TSI

How will be obtain from Phenol -

(a) Picric Acid (b) Benzene (c) Benzoquinone
/ OR

fAfeTr I HeelvoT gRT 2R 99 @ fafr &1 e aHfiexr faRau |
Write the chemical equation to prepare Ether by Williumson Synthesis.

Thifdd RIS & S @1 VT BINTY (AIeR SIHH = 176 gmol ™) 51 75 g tRifes s
¥ gfera ax I9@T fRHie a5 1.5°CT® &4 fbar SImam 2 | (K, = 3.9 K kgmol ™)

Calculate the mass of ascorbic acid (Molar mass = 176gmol™) to be dissolved in 75g of acetic
acid, to lower its freezing point by 1.5°C. (K;=3.9K kgmol™)

[2]

[2]

(3]

3]

3]

3]
(2]




= ALLEN

CAREER INSTITUTE

ARl O~ (RAJASTHAN) Board Mock Test Paper
/ OR
ol BN P fAoar @ geg 7 2™ & e iRgr qen e Sea 9 g b M b @1
STRIAT ferfay |
State Henry's Law for solubility of gases in liquids and write two applications of Henry's Law in
daily life.
18.  fgomvfds fWeetel dfavemus sifwfsar @ feafafr & 9 wewgel o5 Ud te Sugad Sarexul
ferfag | (4]
Write an appropriate example and three main features of Bimoleculer Nucleophillic substitution
reaction mechanism.
/ OR
bl NS THIHROT foTRgu —
(a) g1 srfafehar (b) Bheivs Irfafhar
(c) fofeT arfafosan (d) warcst faferar
Write only chemical equation —
(a) Wurtz Reaction (b) Frenkland Reaction
(c) Fitting Reaction (d) Swartz Reaction
19. fIo & AeR—ardaddl, 6 Aaad &1 arded 8, Nad e At dga ey o & <

Solaglis & w9 RH®! T8 SHIs © dM JJURT PIC &F%hd 341 g1 & (& dgd Ayacy

DI ARG B D |

3 TGl H, HIeR dTldhd] dgfd UgcdD & 9 [deid & I A Pl dlcldhed o ford

AAGAT Hd b RER ghlg 1 W R gelagrsl & #ed @ Ol & Ud R aruRer

B BT A% AT 981 © a8 Add & 9 I MIad dl FHRNIG &R Ad, s

IET UFCT BT UG AT gl 8| 39 A, §RT SA fobar e 2| [5]

(a) HIeAdR dATeddbal & forw T fageryor HifTe?

(b)  HIOR ATAGAT A D SHTE © :

(c) KCI' & 0.10 M faeiad @7 areiehar 298 K TR 0.0129 S cm ' © | $dT HIeR dTeidhal I UM
DI |

Molar conductivity of solution is the conductance of solution containing one mole of electrolyte,

kept between two electrodes having unit length between them and large cross-sectional area,

so as to contain the electrolyte. In other words, molar conductivity is the conductance of the

electrolytic solution kept between the electrodes of a conductivity cell at unit distance but

having area of cross-section large enough to accommodate sufficient volume of solution that

contains one mole of the electrolyte. It is denoted by A .

(a) What is the mathematical expression for molar conductivity?

(b) Write the units of molar conductivity (A, ).

(c) The conductivity of 0.10M solution of KCl at 298K is 0.0129 S cm™. Calculate its molar
conductivity.

/ OR
Mg> Td CI" 3IF &1 A AR dATeiddl AHFITal 106.0 Scm® mol™ Td 76.3 Scm” mol™ 2 |
MgCl, &1 T AR ATAdhdT BT ITOHT BT |

Limiting molar conductivity of Mg?* and CI~ ions are 106.0 S.cm?.mol™! and 76.3 S.cm2.mol™
respectively. Calculate the limiting molar conductivity of MgCl,.
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20. f=foRaa siffsanetl § T g Iarel &1 |aen forikay [5]
é—tﬂz—c o, MeEH
H,0, H

(b) HCHO + CHMgBr ———»

CH, )
HO, H

OH
(d) @ +CCly + 4KOH—>[A]M> [B]

Write the structure of the main products formed in the following reactions:

é— m{z-ﬁ-o-cm%.
O

()  HCHO + CH;MgBr—2%11,

CH;
« @/ ‘o H'

OH

/OR
(a) WIS DI el FHIifdaferd el Uael e B | gfte BT |

(b) FrfeTRaa g1l @1 FRe Y I8¢ :

(i) S=IfcSEISS &7 2, 4-DNP (i) SU=I SfffRTH

() TR HIeyo E[:Uf B
CH,CH;
_ KMnO, ., CH;COCI
(i) £ (i)
KOH, 3T faster AICH,

(a) Carboxylic acid is a stronger acid than phenol. Justify.
(b) Draw the structures of the following derivatives :

(i) 2, 4-DNP of benzaldehyde (ii) Propanone oxime
(c) Complete the following synthesis :

CH,CHj;
KMHO4
, — 9 CH,COCI
(i) KOH, heat (i) —_— "
anhyd. AICI,
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